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AP Statistics Ch 4 - Required Practice

-scholars sometimes use the distcibution e:;f word lengths in a work as & test of

’ Literary
\ authenticity. Here are the words lengths for the first 25 words on a razzdamiymﬁﬁiected page from
Toni Mamsxm ;] Smg of Solomon.
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3 3 6 4 4 2 5 8 2 3 4 4
#1. Make a dotplot of these data.
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 #2. Find the mean, standard deviation, and 5-number summary (min, Q1, median, Q3, max)
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#3. Describe the overall pattern of the distribution and any possible outliers.
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#4. The histogram shows the number of | e o T
major hurpcanes that reached the East Coast Hardicons Frequendy, {944 - 2005~ -
of the United States from 1944 to 2005.
'Descrl‘ls'glthe shape, center, and spread of the
distribution.
Tle forrimne dota s stewed (13H)
Wi 4. MTM 4 Zl}\uf/f&ahasl _
and  an Tk o 2 hwedtcines, - oy
vy ..-»1w~~ 3 “;'k'! : : : ]
MMM?’W
| var -!-ﬁv*)’ el L2
' v: 2 27«4
~ s=fe2y TARTI
al=| |
ped = &

R7 =3

P 4



On August 7, 2007 Barry Bonds hit his 756™ home run, breaking the all-time carcer home run
record, formerly held by Hank Aaron. Does that make Bonds a better home run hitter than
Aaron? Let’s compare their annual home run production over their entire careers. Below is a

side-by-side stemplot. (Bonds played between 1986 and 2007, Aaron played between 1954 and
1978.) “ :
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#5. Use the plot to write a few sentences comparing Bonds and Aaron as home run hitters.
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Haﬁax abducto val gus (call it HAV) is a deformation of the big toe that is not common amaug
young people and often xeqmrm surgery. Doctors used X-rays to measure the angle (in degrees)
of deformity in 38 consecutive patients under the age of 21 who came to a medical center for

s;:rgmy to mrwct HAY. The higher the angle; measure the more severe the deformity. Here are
the data, '
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#6. Make a histogram of these data. Choose an appropriate bin width and scale, and label each
axis. o
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#7. F ind the mean, standard deviation, and 5-number summary (min, Q1, median, Q3, max).
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#8. Write a brief dlscussmn of the distribution of the angle of deformity among young patients
needlng surgery for this condition.

Pe dihihetion of mg;‘e ol slformids fy 15 nochly Syawelncal
W 4 pean ob 2SNH° avet @ Howdard dpwiatos of #5°,

The 507 date valwe. IS an oxtlier { UF = o ugwmm(aw)wv@“‘}



b
7

- Below are the resting heart rates of 26 ninth-grade biology students.

61 78 77 81 48 75 70 17 70 78BS  B5 65
60 63 79 6 71 72 ‘74 74 64 66 71 .66 68

#9. Make a stemplot of these data with split stems.
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#10. The dotplots below show the total family income of randomly-chosen individual from Indiana
(38 individuals) and New Jersey (44 individuals). Write a few sentences comparing the
distribution of total family incomes in these two samples.
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